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I. Identifying and resolving inconsistency in '&n "1’s rulings in context of Xn»R7
a. Background (above): n™ rules that a %20 pav is judged RNV in case of NN RNV (Meaning RNPNRT IRMIV)
b. Challenge: 1:1 m1nv — if he touched a body at night, unsure if dead or alive and found him to be dead in morning
i. »”1 heisjudged to be v
ii. o'pom he is deemed Rnv, since all MrmMY are judged based on when they were identified
c. Answers: to seeming contradiction
i. /o7 /7 in our mwn, the offending y1w was atop the nn1n throughout mwnwn Pa (>rNV IRTN)
1.Challenge: in such a case, why would »ov "7 rule that a 217y pav was still valid?
ii. 9o 271 27 case is 2 sets of conflicting witnesses; 1 testifying that it became &nv during day and other — at night
iii. A27in our case, only 1 Aprn (MMNV AMIN); in 1:2 MINY — 2 Mpn (9 was alive and man was M1V beforehand)
II.  Identifying and resolving inconsistency in »o0v 7’s rulings
a. In our mwp: he rules that X999 pavo
b. In 7-8:2 manpp (above): he rules that n%av pav is invalid, even for 13297 MRMY
i. Answerl (812011 72 8117 73): he holds that 131297 Pmnn (> more lenient in our nwn)
ii. Answer2: his opinion in our nywn reflects his teacher’s, not his own
1.Support: 10:1 P21PY RNAOIN — 'OV "1 quoted VINKIVAR as ruling that w2 2171y pav
iii. Answer 3 (X¥27): the X1p*ynT NpIN supports Nk (he was RNV before going in to the “mpn”)
1.Only: if mpn hadn’t been measured
2.Note: o "1 (DW RNavIn) only allows for 271y pav to be valid
a) If: there was certainly acceptable food before naw started
b)  Butif: we don’t know that it was acceptable before naw (e.g. if the m7a were ever npm) — invalid
i. Note: allowance for nmn is because we rely on ®1p’»ynT npm — it was v
ii. However: we should then rely on ma — that they weren’t 1pm beforehand
1.Rather: read “1wnm” —i.e. got mixed in with 920 — pav if that happened before or after dark
III. Epilogue to the dispute
a.  Question (asked of X117 77): if there are 2 loaves of nmIn-bread, 1 ®nv and 1 MY (unsure which is which)
i. Note: could be asked according to n™ (perhaps he would allow, as we have one 11V one here)
ii. Or: could be asked according to 'ov "1 (perhaps he would disallow, as we don’t know of a 9110 one)
iii. Answer (8217 73): both n” and »01 "1 would invalidate as we require a meal that could be eaten during the day
b. Questions (¥37and 1”7's answers): if he has a loaf and modifies its status vis-a-vis wTpn
i. If he declares it to remain 9n today (v”y) and it beomces W1p tomorrow (naw) — valid
1.Reason: we won’t make it wTp during time of pav, until it is certainly the next day (after nightfall)
ii. But if: he declares it to be w1p “now” and then revert to %1 on the next day (naw) — invalid
1.Reason: we won’t remove it from status of wTpn until it is certainly naw (by then, too late for 211°y)
c. 7:7 oy 513v. >"2v’s flask which holds 10% of 9wyn & declares that it will become n”yIin when it becomes 1110 (at dark)
i. Ruling: is invalid for 211y
ii. A7 this teaches that 2117 is acquired at last moment of day (not first moment of naw)
1.Proof: if beginning of naw acquires, this flask should be valid (becomes accessible as it is n11p)
2.Rejection (979): perhaps the first moment of naw is nnp
a)  And: itisinvalid because we require DY Tyan NMMRIN NTIYO
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